Efficiency vs P,

~ 0.7
o

Q0.0+ veerieeeeeeee SRR
> H H
20.08F e veeieeeeeen e
o : :
8] . .
S0.07f - rrerieeees oo
] . H
0.0BF ---+eeveeierereneens e
0.05F-----sesviseeeeeeees P
0.04f -+ ooeeeeeenes oo
0.03F-+eeeeeeiersereneens oo

0.02F -+ g Beeeepe

0.0

=

1.9

Ratio

1

o

©

5
TTTTTTTTT

-
"
A,
i
)

T
&
L
&

O xR TR
.|.=

=
o@
N

1 10

. Gedf’

[—— DQW_orignal_stepZ_Tibar-phaseI-Newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquarel5_step2_ttbar-|
—+— DOM_pixelCPETemplateCutChiSquare5_step2_ttbar-p

h

hasel-newgeom
asel-newgeom_test

=0.05

[2]
§.045— : .
2 : :
G004 et
S : :
§0.035F------
o : :
0.03------
0025 ------beeeenei o I

0.02
0.015
0.0
0.005

............

................

2.

Ratio
N

0.95!

Efficiency vs ¢

o 0.1
Y :
Z0.09F
Q :
20.08¢
&) .
£0.07E
o :
0.06F;
0.05F
0.04F
0.03E
0.02F
0.01f -

Ratio

Lo

o




	Contents
	Page 1


